© M g

XD fH

B XOBEINICE 272 Xy,

@D a=—3,b=—5,c=4 DL X, Ta+tbc—6 D ZRKD 7R I\,

@ x=4,y=—6 DL &, 2x*+5y D #RKD R X\,

B a=—4,b=—2,c=5 DL %, 3a+db+4c Dfli KD X\,

@ x=—4,y=—6 DL E x—Ty+6 D KD I\,

B a=—1,b=—6 D& %, (6a+2b)+(2a+3b) D KD 7 X\,

® x=40Dr %, (7x*—2x)+Bx®>—5x) D KD X\,




© M g

XD fH

B XOBEINICE 272 Xy,

@D a=—3,b=—5,c=4 DL X, Ta+tbc—6 D ZRKD 7R I\,

Ta+bc—6 =—21—-20—-6

=—47
—47
@ x=4,y=—6 DL &, 2x*+5y D #RKD R X\,
2x*+5y =32—30
=2
2
@ a=—4,b=—2,c=5 DL %, 3a+4b+dc D KD X\,
3a+4b+4c =—12—8+20
=0
0
@ x=—4,y=—6D L T, x—Ty+6 Dffi ZRKDHE I\,
x—Ty+6 =—4+42+6
=44
44
® a=—1,b=—6D % %, (6a+2b)+(2a+3b) Dl %K 7x X\,
(6a+2b)+(2a+3b) =8a+5b
=—8—-30
—38
=—38
® x=40Dr %, (7x*—2x)+Bx®>—5x) D KD X\,
(7x*—2x)+(3x*—5x) =10x*—T7x
=160—28
132
=132




